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SANMBEEHAMKBIR? BSIE?

Underline all key words of the topic

1 EBRZEE (URiRREE, WA, iR, REE, BER)

2 ACtERZ (RBERIREWE— 1 aE, BERME—ER, KEREES)

Ejé (ii?_gl\ﬁﬁ%ﬂﬂ“ﬁ’\]x%i&? ) HEXEB—RENELE, KB

Nttt =)

ARRBEAYEE (economy? Environment? Culture? Society? Family?
Individuals?)

5 MENEARAMNEERIREHIN? (8#Fonly, all, most, too much?)

6 AEBEHIRIE?

7 ABEIE LM FEERFIEN ZiA?

8 N E HIHFIEIFNZiA (FHand, onEks) , EFEXFIE(INHERSA
(WIRBMERTICAFTEERIS M, 257, R, DA, HKE, BellioF)

9 MEBSBEHILLRE. =EdkekE&rrather than/instead of
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Advantages & To what extent do Discuss both Why has it i [R] + 52 1
disadvantages you agree or views and give happened? How  B{#
Positive or negative  disagree? your own to solve it? P2 AR I A+
development? opinion. 2
fiE A A, C, BUEACERH A, C, BUHEAC #HBAEC CHIA
JE R e B ARIC
(W= SCREHIAL AL SRR JE A
PLri2 (ATUAS) R A2 (TR M JRE2(AT IAE) #ml1
HRA 1 A 5) B BRIRITIE S 2( A LAAS
OR SEaiopIy=N! =] Or E)
R AL OR H 3L JR ER11
R 52 (AT PAAE) SNy =yl fERITIEL(FT L JA)L
el SRR 2 (AT A A5) (] @2 (7] PAAN
AN5) ff T 12 )
BT Pyl R TT 5L

2022/8/4 3




Fol: UREEERIALE do Advantages outweigh disadvantages, is

this a positive or negative development? Positive or negative effect?

B2 URREE—RIEEA, (BEEREESXICIARSEE I THRE!
(economy, environment, society, individuals, family, work) , X

FHE—EERBXEES, AEEEHIXSEE

B3 EREPD—RERNLR—RR, EERRR—LR (WREZEH

£, BAREFASZMR, AlLA—MIR— 1 RR)

R4 RIFHFRINIZERIE, ARHRTR

ZR5: FAAELEMICIASEAEREIR (other people think, in my

view)

£ m6: positive or negative ITREIESAE®Z (1 551ESsome,

might, likely to 2 4&/)\SBE)

BR7: TEARE, FeEiEik

many people today choose to live in a rented flat rather than buy

their own home. is it a positive or negative development?



f)-¥

Many parents today give anything their children like and allow children to do whatever they like. What are
the positive or negative effects on children’s future development?

A3 % 1% 1 BE% T S A3 IR — UIAR B P 24 SR CLUJm AN ) 35 =0 A
A 5% 2T B TR B AL, AEES AN L CAR HE R T
A Z B % T NPTECON C LUEAT NANGF

Mobile phones and the internet play an important part in the ways people relate to one another socially. Is
this a positive or negative development?

A TN AE AT N Z JAAEAE AR BB EE R A 0 B kAW SE N7 (8 € 5 R 58I %#% Yl (keep in touch with,

feel close, maintain a strong relationship)
A TR 28 A2 N AT 2 Ta] A2 o 4 1R BB A € B TRDN TR AS W EL A 2> € R RAVIE L
A FHUR 27 NFIN 2 [A)4E A8 SRR B A 6 B X K INA 2 CHhsa i <18l (expand/enlarge the

circle of friends, have a large social network)

A FHU 2876 NI Z ()42 AR B 2L M (0 B SEE S0V IR N CHE R R A A2 [H, H A7)

BE# U (a weak relationship, superficial relationship, short-lived )

Organized tours to remote places and communities is becoming more and more popular. Is it a positive or
negative development for local people and the environment ?

A SRR T R B 45 2 AT RN € A BT N B ARV AR B R 4
(create income, protect/preserve the environment)
A 5 REIZE I H T U B O BB IE AR C 52 J b AEZS (damage/destroy the environment)
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There are a higher proportion of older people than younger people. Do you think it is a
positive or negative development?

AZW N2 B Rt A ¢ MAER N A T

AW NZ B 5B I N % C &5 R AR

AZie NZ BIRZ NFEL KR T HHRIEIREF C v DLUNHE 2 4k 22 o ik

Some people think getting old is bad for them in the modern world, while others think

older people today live better lives than in the past. Discuss both opinions and give your
view.

A B BRE & B2 NERA B CR % TAF B gL\ BT
A L5T R B ARt e C N AT B4
AZFENDOHIIN B BUF HUE AN C 2 N IR 1l A

As technology is used more in the workplace, some people tend to believe that young
people can find jobs more easily than older people. To what extent do you agree or
disagree?

ARIE s F RbEe B SR LRI AN AT LA C R A —E B Z K TAE
ABDEAE AR B R Z TARIE 2 EEMKEELL CERAA € ERF K T
AEFIBHY B RN EFR CER AN HZE AR TR INE %
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Hol: B f&2 (to what extent) Do you agree or disagreeg;&what is
your opinion Er1

HEr2: _JL)\méﬁi—:‘JZ%fiSU WALERDSIFaE R (A TRE

sometimes, in some cases, in some circumstances, may, be likely to,

might BiSTE&MH, WREA, sEHIEE)

%53 THAZERCIAKAMENERR (F—RE—HUR, ERERADW
E=REECUR) , RE@RtIother people

think/argue/believe/hold the view thatiX&b3%ix

ZR4: IREERT (52 EAEXLIANER) , £FFLUAREE, 228

people think that..

HSS: FEERNFLER=EE (advanta es/disadvantages,

positive/negative effects) HIXZI (TTRE %ZEC, :JZ%E%EAKIC) (WNREH

Hirather than, EERZLLRLR, ﬁuFE’JFﬁ%B_IL,Lﬂm)

Hra6: HI as... as..AUHH, BIHEER
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Some people think that it is more important to plant more trees in open areas in towns and cities than
provides more housing. To what extent do you agree or disagree?

o A ZFH Bincrease green space, improve air quality CNJE E A1 B 1 104 15 3455 (living conditions)
o AZF B HRALPlace it i ISR H (leisure activities) C ¥ irelease pressure/reduce stress
« Aindensely populated cities N.1% % & 51 B 340 55 )2 it CAJ AP 55 4/t (housing prices)FlAE V% [ 77

The government should spend money in promoting sport and the arts at school, rather than sponsoring
professional sports and arts events in communities. to what extent do you agree or disagree?

A FRAHET R E MR B il /i filix 8 ¢ A RN AT AECA £ A+ Cartistic talent, athletic
talent, pursue a sporting career, or an artistic career)
AHETR B HIZR B children acquire skills C X 26H fext H 5 A H  (physical skills, artistic skills)

A B BLE L VE 3] B pay to watch games or attend exhibitions C increase public consumption, economic
growth

One long-distance flight consumes fuel which a car uses in several years’ time, but they cause the same

amount of pollution. So some people think that we should discourage non-essential flights, such as tourist

travel, rather than to limit the use of cars. To what extent do you agree or disagree?

o ABUDADERAITHAT B countries less interconnected, fail to maintain strong ties C £ 355k = & & 1)
M1 hinder economic progress

o AN ADER AT HATB hard to broaden horizons/minds C limit decision-making abilities

o (FERARD A L E ) KT H 4T B reduce/alleviate air pollution C protect the environment

People believe that using mobile phones and computers to communicate make us lose the ability to

communicate with each other face to face. To what extent do you agree or disagree?

o A FHHGRITEE TS B XT H % A2 B = i L lose patience C AN/F B HIUT listen to others attentively

o AHJHEXAD LS B XX 7 ) non-verbal cues(body language, gesture, facial expression)fit = FE#C 2R A
1] & cause miscommunication/ misunderstandings

o APIERATERAE, BEE AL T B AR SR AR T T A CAS RS 7% ] I
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XNRORA RS FEA, AL )E AR A

good, FREEA

XK AR EE FEA, 1E)E A A

important

# l\\\

Eﬁ%A, AF e T AR SR AT

FEC, ALRTHAR AR

WMEREBEEAN  WEC, AR AEE, N BEC, MR —AEE, NHAR

necessary 4 necessary

necessary

PLZANLIZIZX A ATLAREC, AERTIAR —DEE BEA, 15 AR

should WA IHEA, 1 5 AR A
B EANRERET, WE ERAZIDHEBERE, FimE

C (i ¥itoo, future, can) JRK

—NEHRAR TR —  ARFLFEC

AEER CGRBLE BPIRTE

to)

W Zbest, only wayf] AL F8C
i H

H T because, el 1 X Y
therefore, e 2 A

i Al H

AERNZASAE R, LR AR

DY

AFEATC

A LA 2R P8 B ] DL EC

i AN R
ARSI, (H 2y 2 A X
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Some people believe that it is a good idea to continue to work at their old age. To what extent do you
agree or disagree?

A delay/postpone retirement B remain socially active, physically active C beneficial to health
A delay/postpone retirement B earn money C maintain the standard of living
A delay/postpone retirement B cope with stress C harmful to health

It is important for all towns and cities to have large public outdoor spaces, such as parks and squares. Do
you agree or disagree?

A K/AH:Z2[] B do physical exercise C improve well-being
A KA H:Z2[A] B socialise C improve community cohesion
A overcrowded,overpopulated B housing, office blocks C A~ 5 e 2/ [l 25

=]

People should look after their health as a duty to the society they live in rather than personal benefits.
To what extent do you agree or disagree?

A medical costs B fall ill, affect the quality of life C AN H CIfj V3 2= {8 5

A happiness is closely linked to health B exercise more options and lead a fulfilling life C & H T\ V7 =
S

A member of society, use resources B civil responsibility, fulfill the responsibility to society C N | #1211

M B 2 A
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The only way to improve the safety on our own road is to have stricter punishments for driving offenders. To
what extent do you agree or disagree?

A improve road infrastructure (/A S 2 HN7E] ) B reduce traffic congestion, traffic flow smoothly C
A raise/increase awareness (i H2IIKTE4]) B obey traffic rules/regulations C $2 % 4=
A repeat offenders, harsh punishments B deter people from driving recklessly C%Z 415 2l {x &

The best way to teach children to co-operate is though team sports at school. To what extent do you agree or
disagree?

A A& E B work together/join hands to win a game C Z(&=/NZ U &4F

A academic activities B pay little attention to winning, children find enjoyment in teamwork C

Some people think painting and drawing are as important as other subjects, and they should be compulsory
in high school education. To what extent do you agree or disagree?

o ARKEEREAZSAMER BIEE/NMEIEH EMEREES) C UG TAEFR A TRe R, XHHRMY R RIR
i

o ABEIEARBER B/ANMEIEIEREFER ¢ H 3z

o ARH PR RAAEIR BAIRZ/NZEDGHER C ST A AR

Everybody should become a vegetarian because we do not need to eat meat to have a healthy diet. To what

extent you agree or disagree?

AN L A SR, 1253 B meet nutrition needs C A] LSRN R B T X, ZWEK
(S Ri1)A PZ§%55% B guarantee nutritional intake CANMEFE, AN iZNE R T U E
(X4 @i2) A B enjoy different meat dishes, especially on traditional festivals CANN. 1% H 7 2



ARSI H =
ISR BT =
Fa1: 18RS ERYAEREdiscuss both views and give your own opinion.
FEm2:

—HPEERS . RO E—BRIRE— NI T AENE, EBRRE— NG
%ﬁﬁ%wm, z@(ﬁﬁmugégﬁgﬁ§§¢AE%<éa¢A%%m
e R o I

—FheErg R FE—EBRSE— NI AT AR, F_ERRE _IF
2@&%&9‘8’9, CRREOE S (J‘Etlj%é'l*—/l\%ﬁ’\ﬂ)ﬂu,ﬁﬁ%—xﬁ\%ﬁ)I , B
R = Y
%,:53: i@iﬁiﬁ%ﬂ@?ﬁiﬁﬁ’ﬂﬁﬂ@é, ﬂﬁiﬁ?g@gﬁ{ﬁﬂﬁﬁ?éﬁﬁoi -

R4 SRR BRI LB AR ER N LIZENE.  HERINE, &K
%i%a Egré?arﬁ%&a@%aﬁf S R . B temce
V2 E
25 IR BRPOISEE HIN—LFIREYisome people argue
that, it is sometimes argued that®% ({(EEER/DENR)

Fr6: BIREAEHNFOAAFESRIRSRE always, should, must
%Ezﬁ ST AE LR (EARBHE=ER) |, AeHIl—NEEIgHI

JIZ
278 BCTABFRHULSHFEST— (BEARZEBMRBIN—7, HLURE—
REE) | Tl s ” ” e
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Some people argue that renting a flat is a better
idea than buying a home. To what extent do you
agree or disagree?

1 B

2HREFIFAE2

3 SEEHIEFA

4 Z5REER

Some people prefer to rent a flat, while other people

try hard to buy their own homes. Discuss both views
and give your own opinion.

1 BT
2 SEFESUFAb
3SMBEFIEFL2 (NAMR)
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*  some people think young people can learn some skills by playing electronic and computer games. Other
think that it is wasting of time to play electronic and computer games . Discuss both opinions and give
your views.

A Dlii#k B learn software packages/programmes, do internet searches, C $2=idigital skills
ADLIiEXK B addicted to gaming, do repetitive tasks C a waste of time

ADLIIEXK B cooperate/collaborate with others C improve the ability to work in groups/teams, soft skills/solo
games, multi-player games

ADLIIEXK B tactical games, analyse different situations, C analytical skills, decision-making abilities

*  Some people say that the amount of noise that people make should be strictly controlled. Other people
say that they are free to make as much noise as they want. Discuss both views and give your opinion.

A FERIEE BARIL 1 NSO ¢ A B TS A R R
ANATTAT ARG -G B 83 e 5 B BN E € A3 BE IO
A FEHIRE B EIE ML R RIS O AT AR

Some people believe that a country benefits greatly with a high percentage of young people going to
university, while others argue that it only leads to graduate unemployment. Discuss both views and give
your opinion.

A 5 2 N1 K% B acquire knowledge and skills, improve productivity C a competitive economy
AB % N1 K2 B lack practical/hands-on/first-hand experience C fail to find work
A % N\ LK% B broaden horizons, have an in-depth knowledge of C think up new ideas, promote innovation

LOCO



21 [Af—gE™: why this has happened and how to

Improve the situation/solve it? TAREE—ERERIZE " [AMAIRE

" B —MOBRE MRS S, RER—T.

T2 LIRS PERAING2-36, EERIRAS AR SR, RER

FE— S, |

B3 IREENERIRRRT Z—RREBEXIMNARRAIRRE, (EZ2MRART

B, BRJLAES,

B4 IRERERI LT RESE—iR A= HMlsome people think

that/argue thatiX#£RV=HE,

BR5: RENBRDABDHERES, Z:‘H‘E—%T:E—/l\ EE

Em6: IREXNEFEIERAFN, MAZAREEEFRGE

What problem has it caused?

What has caused this problem?

BR7 . WRTENDY, B TR

%5E : ii%‘ﬁotdayizgﬁ%iz, & Bresearch shows that/people
now that...
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Many people nowadays do not feel safe either when they are at home or when they go out. What reasons for
this change and what to do to solve this problem?

A 25 A B ARARE BT C AR B & 2 e A et
AJLARMIRIEIR 2 B AT AL IX AN € W0 B AHE O
A BURFETRIRTT B R R FEAC A5 10 7 U B f#

As economy develops, people get richer. Studies show that people in developing countries feel happier than
before, while people in developed countries feel less happy. Why do you think is it? What lessons can we
learn from it?

A differences in expectations B & & H [E X £ B basic quality of life, B4 23 i meet expectations, [ &Ki&
= % have more demands C

A TAEE H S A 2Eadjust expectations/change mindset B set realistic/attainable objectives CF %5 5 R
R

In some societies, the role of a mother differs in some ways from the role of a father. Why do you think these
differences exist? How might parental roles develop in the future ?

A biological factors Binvolved in child-rearing tasks C ff & A~[A]

A face discrimination in the workplace B a glass ceiling C Jit A3L R 2 2 flbreadwinner
At BAREE B B Aot fria TP c B Mt EAZ



= N=F -
BhXAB BES™
BRI RAXFEREXIRRATRBA—2S

. B
« Why is it the case? Is it a positive or negative
development?

« BEZEWhat problems does it cause? What are the
solutions to this problem?

gﬁz: MNEREFEE, #HERAT, fHoE2E=4HE1E
=7

HEa3: FNEEILAAT-2MAEE, ERNMNEIRR
e |

gﬁﬁm MRt E, sTLARBEEIRREY, thaFETe
o, P :

]
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*  As countries develop, their populations tend to live by themselves. what are its causes? What effects
does it have on the society?

A higher income B rely on family C live far away from family
A—~ A\1F B drive the demand for consumer goods C stimulate/spur economic growth
A—~ A\1F B experience a sense of loneliness, suffer from some health problems C higher medical costs

*  People in some cities prefer driving cars to biking, while in some other cities, people like to travel by
bike. What are the reasons for these developments and which one do you think is better?

* Atransport facilities B convenient for cyclists or drivers/motorists C prefer different means of travel
*  Aenvironmental awareness B economic consequences/costs C prefer different means of travel

« AL 7% B physical exercise, maintain a healthy weight C beneficial to health

e a.HATZ b. pay the fuel cost, save money c. reduce the cost of living, easier to make ends meet

*  More and more young people from wealthy countries spend a short period of time in communities in
poorer countries doing unpaid work (teaching and building houses) . Why have they chosen to do this?
Who is likely to benefit from this kind of work?

. A aid agencies, international charities B raise/increase awareness C 95 B K e AR,
o A ZEJET1EB tackle different problems C alleviate/reduce poverty

o AZEJELAE B realise the hardships experienced by people of poor countries C gain a sense of well-being,
feel thankful, feel grateful
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Older people who need employment have to compete with younger people.
What problems does this cause? And what are the solutions?

A EF NFIER N 74+ B fail to find work C sources of income

A provide support/assistance B set up a business C N & T flIZ¢ N\ 754+

A increase welfare provision/ provide a safety net B enjoy a happy retirement Ct5%
K2 TR =R aFRA

In many countries more and more young people are leaving school but unable to
find jobs. What problems do you think youth unemployment causes for

individuals and the society? What measures should be taken to reduce the level
of unemployment among youngsters?

ATEEE N Jll B steady source of income C make ends meet,

AR R 22 488 N\ Jel B put knowledge into use/ apply knowledge to practice C
hinder economic growth/ economic slowdown/ slow economic progress

A provide subsidies B find work C reduce youth unemployment
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T AR = ELBAF?

ABC E517 XIS D HES (XSO HRE T IREESIINE—
{F=Eal)
T ARATFHINR?

1. 8R= Iz
2. TR=T83AM
3.ER=ME—
4 TR=EEMY
5 HFRMIRES, RBXDE
6. ANEAM A SE—IR
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SN TR ff1 51 Political and Legal BUYA A1 S (AR BEUR L)
1 J%2 EconomicZ T A1 & (AVH 9% BB € kB A A )77 th D &5 AH < 7] D
SIS FIBE3 Socialkt XML At &A%y (AZEML BIRTITIL CAxBkAk D 128 L E Fll 22l
NE)
FAFE4 Cultural SCHLAE: (AT Z M B STib i —)
£ 5 Technological B fAFE: (A fRvh—SG I 81, QU B 42 85 20K
FAPE6 Environment AT (A BEUR B iS4 C M2 HE1E)
RETANER (W L)
BEETIHI SN 1 T 8T 1 A AR
srRoEQ=Eard bR 159 SRR N (1 SXHE 2 lf’%}\ 3LRAHHE) (LA 2 Hafik 3 AT AR

AP E RS ) E A 4 AR T AT IR 5 M 6 MR
B £ 1085 B R AN 15 it

FAE11 AR X IR E =R

AE12 HARER
s (WED FAE13 AT R (FEEKEHEITMAEERAD

EEHEEREE FAFE 14 (R 22 4 TR

MAEIS LS FR QA FIAL. RARKER 2 4L XA

fAfE16 HEFER (H3H KB E)

17 HRSEUFE R (A28 H AR Bir 2 S5 FEEMNE 3 BTk

REMNER (BED BRIyl
19 B R E
FIEE20 VEAR A
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HLEERaigS{TA?

E—aE —RUEEE (18 (EEFEREK) 2 Bualk 3 1R451 4 #25R1X)
G 1 SFRFFDHIEERRIRIEZE 2 there be+ZiF+EEMNT 3 itis
clear/obvious/believed/argued that, it seems that.. , it is not
unusual/uncommon it is reasonable/important/necessary/appropriate ...
57, MRTERE, FRATE—EEE

ENMENRENSEL (BFRBMITICHEREARETTENRE £F1T18)
SRR N RIEE D

BiMY (R ﬁﬁi—ﬁ\tm&?ﬂa?&ﬂ’ﬂiﬁ, EVE=p30l)

B0 BEECHEZE (FLUTR)

ES=E Ak

> AR

> AE#fEHR  (nowadays, today, there is a trend that, this essay explains, heated
debate, there is controversy, there is a phenomenon that.. Merits and demerits,
advantages outweigh disadvantages , it is common that, different views about...
F. . )

A gtljf)blnlf%ﬁl?i

FE(RER R
!Z[I%tljf'ﬂuiz%, EMNERIBT—E ‘
FINBEARS, BFAEEIIS0 F 29
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step 4 BPMRRAE ARHE?
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BB =4]
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WA I A

4l

WIREH 1A
- X

BEx(RRE—8E, BE—TE=):

tBR1 BT ASENEE, ATLISHEB? (SR, EEAILEREIF TIERSS2M

Eﬁéiﬁ%ﬂ%ﬁﬂiﬁﬂﬂg, IS ERTASBANOAENESRRARRESEERPFE
)

52 EATASIEEE, SHBHEEMMIARE? (B, FRMILIL, EA
ggfﬂﬁifgﬂﬂﬂﬂgﬁ AR, EMREMNHSHTIRESFZERGREE, BARE
il\l \)

1553 ECRIAHE, ILIBE—TANES

iS5 FRIRPLEL: AZIB, BREICAYHLER
B2 fERRMEHE] (how)
i BRINEERNMERE, MERINERE

FHAERFEN (BWRPEREFLER, XET)

SR II N BRI AIARRE

EHIREARK (ZHIE—DIE)

MR LEEENG T, AEEM

—RRREEA, ZHLRXMGE. RESNR, BRLANEERE, NRESRS,
SRR AV E M.

ABH I T bestaliE LLELZK B HIIL 1 rather than C IR 7 PR EERT B DIRR K8 H
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RILRARSTA?
I 1085

1 X588 (SEWH, SENSR. aifE. 2N, SEEF)

2 &R (EAREPDEZRNE=KR)

3 MR (AFESER)POaH—T1E(1 WRABEFHEA, SHAILIEACB EELABC, 2
WRTMBEHEC, FHATTLUZECAB 3 (IRTMBEFEATIC, FEHIFEACB)

4 BEEEEGNEE CGETFOIERPARTI, BMHEHEHAGRHEERZHA, BF
benefit, problem, advantage, important, one solution is to ...Z&Z)

5 BERNIC AR gERETHOTESEE (B MURREHER, SR OaEKER)
6 AILAZABC, WNERAXIKEAC, WNERBEERFABC (AILAERSCREEBISZUREERER)
7 FSMERSPD T (FBIFREERIES) (on the other handflhoweverfyX
AR fEAalways, shouldXLEKTEENRIE

% FEBREBMR— 1B (FeeA—RIER); WMRIBFAERE—SL, ~EH
|

PUNSESEIE

F—ERINFILEG: BRI AEER

BRI O BFEEEER

E=EBRRPOE: BFEEFEB (A may, likely to, possible , sometimes, some cases,
some people B fRkimft CiIREFRM, FHEHE) R
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S 42 ) (6 R 2K F 471 )
¢ 'ﬁﬁbﬂ%,\ﬁa

* Advantage/benefit/problem/drawback/downside/disadvantage is that ...

* Something is advantageous/beneficial/harmful/detrimental/a problem/challenge to
...because

* Has a positive/negative/harmful/detrimental effect on because ....

o WSS H (to what extent do you agree or disagree):
* Itisreasonable/sensible to think/agree ...because /since/as....
* The reason why ....is that....

o IR H (discuss both views and give your own opinion):
* Some people argue/suggest/believe/agree/contend that...
* Itis sometimes argued/suggested/believed/accepted that...

e ..issupported/advocated/objected to/opposed by people who believe that...
* Supporters/ advocates/proponents/opponents believe that...
¢ T&%?{é@ H:

* The reason/explanation/justification is that ...

...because/since/as ....

To solve this/ improve this situation/reverse this trend/deal with this, ...

*  One way/method/measure to deal with this is to ...
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Bt FE25{TA?

®6 XE: C1EBEZFItkETF, AEFREIER 2 TETENEFIFEERITAS 3 A
FiE 4 NENT

REahE (—RPOEEHRE, BEEERwhy, how) !

BJER1: BAIER? JEEIN, HINEE XEREE A E

B2 RAERE?

1 &Rz

2 i (FEENESE

3 XEIEEE 4 FiEANT

BfE3: BARE Bie—E7

170108 —21 CREBAVIE S AT HHIN)

PAVEY i 72

3FIME—8, GFEACHELR, S8iEfEANs

iﬂif%%léﬂ% (1 ZEIREA 2 ERAEKXKAKRT)

BESAOH:

EBRRAEIESE (1 8% 2 E1ENG 3 BIRML 4 KA 5 INEImME 6 SiZiE)

S 7, A9FZM (BEAENT 7T 1 B/ME 2 @ENT a0EAERIY 78 18]
EEER 2 H459 3 K& 4rather than/instead of)

EEAEIREAER (32 1 MBIE 2 9FE&M5kiR 3 iIB1IBohAER e
iﬂ*%@%&%iﬂﬂﬁﬁ) -
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A BERHIE R XEIFNERA B HIKHEIRAIEIRA

1. FFLERERBASIZAIET & AT LAFORR

2. BANEMESENFOEERHIRBRIXRER, WhEE

3. #IRETR, KEZEMERYER-ERTN

4. BNERESENERE, RSB ZHINHEXIECRINSR, "ILIA “
XIEE" A9 TUH0RR

5. EEPDIRESH N FRBEHIXEE, Kie—adLIREXSE

1a)H1R
6. ZHEEERAIR
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BOEENRRAZENFLa—E (1 EEEANEISIREE,
{FFHhowever, on the other handZ) , &EIZ (LiFskE & ITHNIE
5) —EFE—¥H
$E%ﬁ,ﬁﬁfﬁ%ﬂﬁﬁ—ﬁﬁ&ﬁE%WH xZ (Frmix
ZIMAA—X—3#%S, EE—AERFENRSRS.
AZSIRHIFEIE A FAEXINRS (B oaiikl, &
EiRA M)

RESA I AN T R BB ENEE (e A
MR, FTANERRIREHIIRACIE)
PNERINMARRIE A FRUEE S EH EHASEE (Bmii@ B2
calculators, A gEMKZlartificial intelligence)
ANEFIHEAFHRERNSEHRRE—X

SR E “ARTLAFEC” , HEeliA (FRIEEIE HIY T the best way
R AN I B, 1B AIAS I RS, | (N
i) gk R BRI AR 2 b B AT B A,
,?%@ﬁﬁﬂuﬁm,ﬁ@ﬁﬁ@%ﬁ%ﬁﬁmﬂ@kiﬁﬁi
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2 Bl 1] A2 1]
ANy,

A\ 38 F3E ] A
ﬁJ\

T 25 18] A1 &l 1]
ANy

3 FIBEA—K
A shia+ R
4 ANT]EL 4 1]
R

Gl EAGE:S-)
B el el 1]

S IR B
A

HI SR J5A: 1because/as/since 2 where 3 given
that/considering that/due to the fact that...
ARG % 1if/when 2 who... 3 thereby doing 4 so..
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AEEXR

SB—RAFIEE (ERERE)
F%1: In addition, moreover, additionally, what' s
more, apart from this, meanwhile, in the meantime

57l : To be specific, for example, for instance

XIEK: By comparison, in contrast (<EFon the
contrary)

#5ER . therefore, as a result, as a consequence, thus,
hence

ERBEIEE
*On the other hand, however,
Meanwhile, in the meantime R
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= eSS

F K

—LSHthis, thesefJiAA

fXidthey, this, theirZZs

;Ey doing something (R/&E&E) to do, in order to do something GRHEAY,
Z55R)

*(by doing this, in this way4~Etherefore, as a result)

B=2K:
P TR N ABRNBEXR
—LESERANEE

S0 ZEMEMNE this is why, this explains why, the consequence is
that, this means that, it follows that , to ensure that / to make sure thatz
g R

L y ]

2022/8/4 40



AIRERE

. Jj(lg}A’j éﬁ% because, since, as J&
2 [BH, Z8 3 K& if when
' xELEM’j 1 %ﬂ who &8 2 2Z1a+3ERH!
EIEMNE 3 where
53] (ZihEDEEEANEE

- AndBdf(EFE
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1Efe

AE-

1 Have a positive effect,/beneficial effect+
Have a positive/significant impact +
Beneficial to, of benefit to +

Benefit from.... ¢

Important to, significant to, valuable to, crtical to,

Have a2 negative/adverse/detrimental/harmful
effects

Have 2 negative impact on ...

Harmful, damaging to, detrimental to +

Not relevant to, not essential to. . .+

essential to. .. +
Something Play a vital role in/form an important

part of/'hold the kev to something #

Cause damage to, pose 4 threat tov

2 Can help somebody do... assist somebody domg
something. ...+

Enable/allow,/ permit somebedy to do something. ..
Encourage somebody to do something. . _+

Provide somebody with opportunities to do sth...
have more opportunities. ... +

It’s a great/valuable/precious opportunity to ...+

&

Do not have the opportonity to .+
Disable/discourage  people from  doing
something+

Forbid people to do something #

3 More likely to do something+
D (A bie/to, capable of

Less likely to do something + N
Unable to do, not able to do ...+
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4 Makes it easy,/convenient to do something+
Makes it possible to do something+
It’s easy/convenient to do something+

g

Make 1t difficult to do something+

It’s difficult to do something, it’s not easy to do
something+

Find it difficult to do something, have a
hard/difficult time in doing something, have
difficulty in doing something +

IT% impossible to do #

> Put effort into .. .¢

Make every attempt to+

Aftempt to, try to, try very hard to, strive to +

make an effort to, take steps to, take measures to do.,
take action to do, invest time and effort in domng
something +

Choose to, decide to, intend to, tend to, like to, have
the motiration to. . .+

Consider it necessary to.. feel the need to ...

Choose not to +
Do not consider it important/necessary to
do ...+

a

¢ Interested in... fond of.. .+
Willing to. ..
Motrvated to.. inspired to... driven to._pushed to.. .

mclined to_ ... +

Unwilling to.. +
Loze the interestin. . . #

Do not have the motivation/incentive to ... #

D)

7 Its
appropriate /necessary,/ sensible /advisable /reasonable
to #

obts@goodidea/ a greatideato ... #

It’s not appropriate /sensible to do+
Its unnecessary to...  +

a




8 1Itft a nice place/pood  place/fantastic

place/amazing place to.. .«

9 Have a lot of knowledge about/have an in-depth
knowledge of, have a good/deep understanding of]
have a good grasp of, have a good idea how, have
the insight into, +

Familiar with, good at, have expertise in. .. skilled at,
expert at, adept at.. ¥

Wot familiar with, not aware of have no idea
how. .+

Have no expemence/ not vet developed
expertise m ... +

Not vet fully realised... +

Rookie, novice +

10 Famous for, well-known for, build 2 reputation

fors

Notorous for, damage reputation #

11 Yield benefits for, Make a positive difference to,
huge difference to+

Pose a threat to, present a challenge to, cause

damage to, #

12 Somebody lay emphasis on/ give importance to/
pay closer attention to / pive priority to something
high  wvalue

Jattach  importance to/place 2

on/ 2027 %dke. .. setiously +

Pay no attention to, give little thought to +

a
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13 A pood, pleasurable, unforgettable, memorable, | A bad, terrible, uminteresting experences

rewarding experience,/

14 Regarded as/accepted as/seen ase Rejected as, dismissed as+<

15 One benefit/advantage justification,/argument | One disadvantage,/
for...is that « problem/drawback/arpument against is that .. ¢

16 I agree/accept/would | I disagree with the idea.. /warn that/are
arpue/supgest/ think ‘believe that wortied that,” are concerned that. . ¢

I support,/advocate +

17 make the most of, take advantage of, benefit from. | Accept the consequences of, face the prce

see the advantages of, make optimal use of # of ...#

o
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RIS e

« Step1l: HOMEW A, XFEEH AR 5

« Step2: HCOHMARIW SRR, XL
NP RERE

« Step 3: H K AR SRS ok
, XTECRI NI B, 22 ) ARk, 1E
2N (K NV TN R 7 S SIS P = e 8

o BERAFIUINFE R BRI ITE X, Insmid|Z

!

2022/8/4



Rt "FBFHURRL" MELARS
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http://www.hungry-english.com/

7

L1, oL

PR Z A ok T3,  HEROCHIRZE N 315 (R a2 R TE )
B RS CIRE) @ = R BESh R R AT, 5 5 ST I ik 220
EER

SO 2 1A 22 /D B (R BRPFERE IR 2 8), M3 S0/ BN _E &R 3]
FCAEARKENE, iR HBEATER, 105K EE S WAL G .

P e ik, 1R, 4, SR F, IR EITIX AR A
FMNEDITE, REAZE XL

POCEH I, ST o T LUK 28 s AR s AR IR I S (O
B BNA ) o

FICAT AN S 58 B 1) A) -, SO AT L (BN B3], BB A 555 .

(Bl ANAITar @ FHLAgim CAE, RJEsiA 2% B3 O
1.
2.

PO L KT XY, BEROCHRME AT BLAVE
P AA)F AR IS ShiR N %, R ZAER (1 IR 517 2
B ) 3 7o+ 4 ETEMNEDD
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FLEZ: there is a trend that, there is a phenomenon
that, there are different views about, heated
debate/controversy/ a controversial issue, merits
and demerits, this essay will ... &Z&

FRES (EZIIE,\’I:IJEI’\JE}%E? . to begin with, admittedly,
secondly, furthermore, last but not leastZ&Z

ERER (AFROERR, AEA) @ nowadays,

A

what” s more, moreover, therefore &%
F{RER (E4)) : there is no denying that, there is

no doubt that... people strongly advocate that ....
ZEEZ: in a nutshell, only in this way can...Z&&%
Z|ZRAEX . given is a chart showing that, -
emonstrate, portray, depict, describe, as forZ&=,




- Because, since; as; -although, even though; so; before, after;
while, whereas

- 1 EU R B T~ — M FEEERIR  (if, when)

- 2 RKFHRERHI TRE+INEANGF (BRiE+01E) FREFRS
F1E (AFNnaE)

- 3 Rt B

Make/let somebody do something ($FRI2EEHINEE, AEN)
Lead to/result in /cause/contribute to+ G+ (X)

Something is important/useful/helpful to do something (X)

- 4 \NEIREHEITIES

- S5 FRERXR, REMEEREFIME

- BRIENBIEEE

« 7 while, because —EEEZEF A F



- And J%‘.‘E@q El=

-

vRe, XNBHE

Jandi&Ez

. Z&7and

SIS

B0 5‘61

SHI%R, LA

« Therefore, as a result, hence, for
example, in contrast, even, then .. &4

=Ky

EIE 1__|



1 FEIERERIARE, RXEENLERHE, KEEHZMNE

- 2ERINENG NFNEENEINEE—, MERA)

- &R

- 4 \)/vhereﬂé}’ﬂﬂ‘ni{ﬁ,ﬁ, Efllifplace, city, country, area (WA—EEIHR
A3

5 ZiAfFEMMINGEE, SE&EERRIIIEE

- 6 IFRFIEENG (R —BRAMEH—1EF)
- 7 ERAT, EEaFREENERE /<)



+ R, — 1M RIRAAEHIAFX,
- 1 &, BERwA 2 BRIE

(L idtheir, they, them BYBATJYE

- —TEERFEIEARRIHEY (Fr-ARN) 214
FISZ]




G4 Hikid

- 1 EEZH children, students, the next
generation

« 2 FH{Xia these children, they

- 3 2718 young children, disruptive children,

children from poor homes
* 4 FiA+ B RA1EEAE
- 5 ®BEMA children who....
+ 6 EMaEieiaE
- 7 BkME
* 8 WANE
» BRATHAER, AV R
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NREIEHI— P RAISEEE
MAoa, EEBRRE, (R

these+....

NREIEHINANSEL, IPAER
they, BEthese+ ....

A= WEREIEERIARNSE,
AL ABERThey, EASF=4IRL
X

#l=: many people live in poverty and
cannot find employment. These problems
can be a threat to social stability.

f51=%: many young people today choose to
study overseas. They (these young adults)
can expand their horizons by these
opportunities.

5l Parents can read stories for children
before bedtime. This is a pleasurable
experience for them (I5(XAEE).

{22: Parents may gain considerable
pleasure when they read stories for children
before time.



GRS AR 7

FEFHE TSI FHNEHHIRNEIEE.
ARG 1INENG 2 #5189 3 EENG

B

17792 EEEMREFER, TETRER, —REFOREEEEFENA
BBV R, 2381 FFIRIEHE 2 &R

2.jB1drather than, instead of X#ERNEIEXTEL, while, whereas
gﬁj_jJ(Lli%ﬂbﬂ—‘E%iE, EIMRMENE, FMEINE, BEMNE, ATVINE, TR
YRIE.

4. Z8]REFNER

AL

1.8 LAEII—Le5l+, #iZIncluding, such as, especially, 5|&

2 FEZRALIZSAEENTBINER. , v 3
3 A EefFRaL AR R MY, R AR A E’\J?&%@iﬂ@ﬂl«lﬁﬂﬂlﬂ -




55 AFRIH 7

o BAOIES5E, Bl LN B4 1EE A they
know, realise, believe, understand, are
worried that, are convinced that...

o IS B X WDE) ] learn, understand,
know, B LN EPiwhir 5] S /A1
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Sri6 Al FHIZELL

EINERE S EL S ORISR
1IREMNA] (455,  as, because, since+ JR[F) i R E LR Z

24401 M ] (FHdue to the fact that, in view of the fact that, for the simple reason that, given
that, the reason why ....is that....)

3 FEiEMNA] Hwhered| S EEM A

4 One reason why .... Is that.... (one explanation is that...)
5 in order to/to/with the purpose of ..., f]

& 4], by doing...

AU SR J T EE R A) 1

6 RiEMA] Cif, when+JFH A, 455

7 RIENA] (so+4E 5D

8 JEIE WNAILEA]FHIZR /R A (which/who+J [ 45 5)

9 1] (thereby + doing 45 %)

10 % 1A/t M\ A]  (this means that, the consequence is that, this explains why)

11 9F41%) (JHland, or, buti®E%, JFFAIE)— AT RN, JRHEE R, (HERRR R AR
2

12 HiF] (JR[A], therefore, as a result, as a consequence, because of this, for this rea R
) (AT — R E a5, B ;)
P2EGE MR e R g 8 Gk — 8 Z3E B WA 15 2 H A5 e — 59
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SRRAF AL

St RSSRIEE (SPEEEIR)

1 SFEFEGIMI0E, BESOITEDFEN, 15
B B Bl FhEE

2 REMAODMESS, STEINSAES: 18
B, BT AR, SFERIE, FEH

@
*annIE,Bﬁz ENEFIEFRNEX (KEFEg
li.EE’J T BIE—H. ¥ %RE)

ERIECRIFIIRS (6HHEES, MREERE
1 l_'lmlflﬂ _%)

EAKB, DEATETEX )
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TEERELHIXER, B85 (task response)
':P'L,\’Eﬂﬁlxﬁtljiﬂ)uﬁ ( task response )

BXRETREE AT, BXBERERAVENR (task response)
EK?EEQEHI PrialhEE R E%  (task response)
EEaEREEEERE (TR& CO)

SFEEREEIEANE (Cohesion & coherence)
EHEEAE R EERER ( Cohesion & coherence )
NERGRIE—E

B%8EAABC (Cohesion & coherence )

EENRAEREER (peopleFAREEEH)

feEIEEER (R, BiEanafvEiR. 9F58514)
6o EFEFRIBIEINAER, 89 FERNTE (grammatical

range & accuracy )

FiEFIEMARYICECRRR (Rl 2EFH51)
IPREZFEFTEGFIITMH ( grammatical range & accuracy )



INNECHAI5.57, &%

JURAEILAZI6 3 HY,

IAJIE dﬁ,£/x1+ﬁltﬂrt_, RARBHINER, A,

lAjjiL INRIFEEREARZ, K TINEED

\
——

, K FEIER

LJJJJ' fiz<] tE’JF%Ej? &L}T)ExeABC +¥kE, FIFRiEY, H

SLERYESOA

T{SABC+HAERM, F7—RBGE, B
==,

H

=

ESYRNEN:N

AR10090Z TR, 1EARME, iZATEF
}j A5 /J\%l‘lmlfl : 1 PR

S E AR — LRI QI
SR, BELE, TR
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PRRACFUEREIEL ZRIA R
Lk

TS BEAN L FH AR AR H Sk B AR
kB 5 20) 0k H =k B 5 34) 3%
FARE 535 FARE 5 2B

FERIHER T MU A, Rawid FEREEES2-37 M A
6 & . S, efm E gL vk fdi Hfirstly, secondly, furthermore&5 &%

EEAT Giea

T IR 5 A R R AN PR B — 3K RIS

BRI N AR, M a) A8k fi FHE AR A 122 4L

RIGE a7 FH 4% 4007 B 46

B4 EE ] Pk ORI b I 1 Rk 5ig K17

SR A TR R PR AL 2 i Hthereby doing, {#2%, the more

...the more.., FlIEi&MA]

GERB R TR NG, BRI SGREIEIHELE, e
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